Lesson #1:
Opportunity Cost:  The Soviet Choice for Growth
Key Economic Concept:
Opportunity Cost


Related concepts:
Scarcity
Capital Goods



Choice
Consumer Goods



Communism

Content Standards and Benchmarks (1,3 and 15):
Standard 1:  Students will understand that:  Productive resources are limited.  Therefore, people cannot have all the goods and services they want; as a result, they must choose some things and give up others.

Benchmarks:  Students will know that:
· Whenever a choice is made, something is given up.

· The opportunity cost of a choice is the value of the best alternative given up.

· Scarcity is the condition of not being able to have all of the goods and services one wants.  It exists because human wants for goods and services exceed the quantity of goods and services that can be produced using all available resources.

· Like individuals, governments and societies experience scarcity because human wants exceed what can be made from all available resources.

· Choices involve trading off the expected value of one opportunity against the expected value of its best alternative.

· The evaluation of choices and opportunity costs is subjective; such evaluations differ across individuals and societies.

· Choices made by individuals, firms, or government officials often have long-run unintended consequences that can partially or entirely offset the initial effects of their decisions.

Standard 3:  Students will understand that:  Different methods can be used to allocate goods and services.  People, acting individually or collectively through government, must choose which methods to use to allocate different kinds of goods and services.

Benchmarks:  Students will know that:
· No method of distributing goods and services can satisfy all wants.

· There are different ways to distribute goods and services (by prices, command, majority rule, contests, force, first-come-first-served, sharing equally, lottery, personal characteristics, and others), and there are advantages and disadvantages to each.

· Scarcity requires the use of some distribution method, whether the method is selected explicitly or not.

· There are essential differences between a market economy, in which allocations result from individuals making decisions as buyers and sellers, and a command economy, in which resources are allocated according to central authority.

· People in all economies must answer three basic questions:  What goods and services will be produced?  How will these goods and services be produced?  Who will consume them?

· National economies vary in the extent to which they rely on government directives (central planning) and signals from private markets to allocate scarce goods, services, and productive resources.

· Comparing the benefits and costs of different allocation methods in order to choose the method that is most appropriate for some specific problem can result in more effective allocations and a more effective overall allocation system.

Standard 15:  Students will understand that:  Investment in factories, machinery, new technology, and the health, education, and training of people can raise future standards of living.

Benchmarks:  Students will know that:
· Economic growth is a sustained rise in a nation’s production of goods and services.  It results from investments in human and physical capital, research and development, technological change, and improved institutional arrangements and incentives.

· Historically, economic growth has been the primary vehicle for alleviating poverty and raising standards of living.

· Economic growth creates new employment and profit opportunities in some industries, but growth reduces opportunities in others.

· Investments in physical and human capital can increase productivity, but such investments entail opportunity costs and economic risks.

· Investing in new physical or human capital involves a trade-off of lower current consumption in anticipation of greater future production and consumption.

· The rate of productivity increase in an economy is strongly affected by the incentives that reward successful innovation and investments (in research and development, and in physical and human capital).

Lesson Theme:  The history of the Soviet Union, like the history of any nation, can be viewed as a series of choices and the opportunity costs that resulted from those choices.

Student Activity:  A Journey of Choices

This two-part activity asks students to examine 5 major events in Soviet history (signing the Nazi Non-Aggression Pact, for example) to introduce the concept of opportunity cost.  They will identify the considered alternatives at the time of decision, the perceived benefits of each alternative, and the corresponding opportunity costs.  The second part of the activity asks students to apply their developing understanding of opportunity cost to the “Journey of Choices” they make as they live a typical school day.

Key Points:
1.
Scarcity — All economies face the constraints of scarcity — that there are only limited resources to satisfy unlimited human wants and needs.

· Available (and limited) natural resources, labor, and capital must be used to produce a mix of consumer goods and producer goods.

2.
All choices, whether they are made by individuals or by groups of individuals such as governments, have a cost associated with them; economists call this an Opportunity Cost.

· Opportunity cost is the value of the benefits of the foregone alternative, of the next best alternative that could have been chosen, but was not.

· Another way to look at it is that “choosing is refusing;”  one choice can only be accepted by refusing another.

3. 
All societies face these choices about use of resources for investment in production or expenditure on consumption, and as a result, all experience opportunity costs.

· In market economies, choices about production and consumption are made primarily by individuals interacting in markets.

· The costs of these choices are borne by individual producers and consumers.

· In centrally planned economies like that of the Soviet Union, choices about resource use, production and consumption are made by government leaders.

· However, in these economies, it is generally the citizens, rather than the government leaders / decision-makers, who bear the economic opportunity costs.

4.
It is instructive, for our purposes, to look at the history of the Soviet Union as a series of choices.

· In examining each historical period, we want to ask:

· What were the alternatives?

· What choice was made? and by whom?

· What benefits / costs resulted from this decision?  Who bore the costs of this choice?  Who reaped the benefits?

· Why were those who bore the cost willing to do so? (and/or what happened if they were not willing?)

5.
To begin, we look first at one of the legs of our 3-legged table, the moral-cultural system of the Russian people.

· Even before the Communist Revolution, Russia was expansive and Russian rulers — and the Russian people themselves — shared a sense of pride in being the center of an empire, of ruling over surrounding countries and cultural groups.

· The expansionism of the czarist regimes melded nicely with the prevailing post-Revolutionary world view in both the Leninist and Stalinist periods — that the Soviet Union would be the epicenter of an enlarging communist world.

· It is important not to underestimate how important this cultural perspective was in gaining and maintaining citizen support for communist policies.

· The strength of the moral-cultural leg and the willingness of Russian people to believe the system would eventually deliver on its promises helped to sustain the system even when the economy faltered.

6.
Communist revolutionaries could not escape the constraints of scarcity, and despite their ideals, were immediately and continually faced with the necessity of making choices about production and consumption.  Inevitably, these choices bore opportunity costs.  In many cases these costs were much higher than even the communist leaders anticipated.

· Ideals of socialism, as developed by Marx and Engels, contained few specifics.

· They focused on a utopian state where everyone was equal and satisfied.

· Marx assumed that only labor could produce value, not land or capital. Since owners of land and capital received part of the value of output it followed that they must be stealing it from labor.

· Marxism was a theory of stages; socialism was to succeed the most developed stages of capitalism.

· Lenin was immediately faced with the reality of socialism.

· The Communist Party came to power in underdeveloped and backward Russia, rather than in an advanced western capitalist economy.

· The constraints of scarcity were glaringly apparent and demanded immediate decisions.

· Lenin’s Bolshevik’s were a small group that seized power due to the disruption of World War I, they chose to rely on force and violence to consolidate their power.

· History clearly records that after Lenin’s death Stalin followed this same path and emphasized two priorities:

· to promote rapid economic development by stressing heavy industry, and

· to produce the military might necessary to consolidate power.

· The method chosen by Stalin was to control prices (particularly in agriculture) and to control foreign trade.

· The benefits of this choice were reaped by Lenin, Stalin and the leadership of the party, in that they were further able to consolidate their power.

· The opportunity cost of this choice was primarily borne by the peasantry.

· Government forced reductions of agricultural prices and restrictions on foreign trade reduced agricultural income and the buying power of the peasantry, thus suppressing market activity.

· Also, availability of consumer goods was drastically reduced.

· Agricultural production fell significantly.

· Between 1860 and 1913, Russia was one of the largest exporters of agricultural goods and was called “the granary of Europe;”  by the 1970s, the Soviets were heavily dependent on imported wheat.

· Soviet citizens lost much economic freedom:

· Freedom to choose what they consumed.

· Freedom to choose where to live and what to do for a living.

· Their willingness to bear this cost rested on a combination of;

· gains against market uncertainties,

· fear or unwillingness to resist coercion,

· suppressed consumer expectations and limited choices,

· perceived progress in the industrial sector,

· persistence of the dream of empire, and

· acceptance of the goals and philosophy of the Revolution.

· (It would be a mistake to underestimate the power of the last 2.)

· To return to the 3-legged table analogy:  The political and economic backwardness of pre-Revolution czarist life for most peasants meant that the political-legal and economic legs of Lenin’s “3-legged table” held comparative promise for many.

· The communist dream and the legacy of empire, rejuvenated by government proclamations, provided a moral-cultural strength that allowed the Communists to triumph.

7.
The Stalinist period found governing officials facing continuing economic constraints of scarcity.  Stalin had to continue making choices about the use of resources for production and consumption.

· Stalin chose to force the collectivization of agriculture and to drastically increase investment in heavy industry.

· Stalin waged a brutal and bloody campaign to herd the peasants onto cooperatives and requisition their harvests.

· More and more of the economy was brought under government planning, prices were set, and private property was abolished.

· The government enforced mass movement of people and other resources to specific projects.

· The benefit of this forced investment in industry was a rapid (but unbalanced) economic growth in the late 1920s.

· During the First Five Year Plan (1928-33), the economy grew 48%.

· Producer goods grew 113%.

· Electric power grew 227%.

· The opportunity costs were, again, borne by the citizens, especially the peasantry.

· Consumer goods production grew only 1%.

· Livestock production declined 58%.

· Government became increasingly secretive, coercive and unresponsive to Soviet citizens.  Millions of people were either killed or imprisoned during Stalin’s purges.

· Personal and economic freedom were increasingly curtailed.

· High growth rates held through the 1930s and 1940s, and Stalin maintained his choices in the economic sphere of placing heavy emphasis on capital goods and military production, with the resultant benefits and costs:

· The Soviet Union was able to withstand the onslaught of Nazi Germany in WWII and continue a heavy military emphasis during the 1950s and 60s.

· Important benefits were to reinforce the dream of empire and the willingness of the populace to bear costs.

· Gratitude to the government for defeating the Nazis lifted spirits even higher.

· Forced emphasis on specific sectors of the economy was well suited for accelerated growth of those sectors at the expense of others (often agriculture).

· This provided the opportunity for heavy investment in capital goods, atomic research and military innovation.

· The emphasis on capital and military goods necessitated a producer goods / consumer goods choice that all but ignored the consumer.

· The willingness of citizenry to bear costs continued, sustained by a combination of fear and belief.

8.
By the 1960s, the economic gap between the USSR and the West had begun to widen; the choice of the Soviet leadership for investment over consumption continued to impose heavy opportunity costs on consumers.

· Continued emphasis on industrial and military production perpetuated low living standards for the masses of the people.

· Immediately following WWII, life for the average Soviet citizen was so miserable that any improvement seemed significant.  Rapid growth during the 1950s and 60s allowed for some increases in consumption levels from those of the 1930s and 40s and these increases purchased years of legitimacy and genuine support for the system.

· By the 1970s and 80s, consumption production was virtually flat; the standard of living of the average Soviet citizen did not change and prospects for future wealth seemed less promising.

· In addition, advances ( technological, economic, and military ( were smaller than in the past.

· After 1957, Soviet economic growth began to slow down.

· Annual growth rates that averaged 6% in the 1950s fell under 2% in the 80s.

· This slow down is put into perspective when we realize that investment spending remained extremely high and that it was fueled by the huge oil revenues the Soviet Union received as a result of high world petroleum prices.

9.
In hindsight, the beginning of the end is apparent by the early 1980s.  Despite strictly enforced central planning, the Soviet system began to look as if it were out of control. 

· The costs of negotiating and monitoring transactions among firms and regions became extraordinarily high.

· While innovation in production techniques and new product development was providing much of the rest of the world with higher quality products at lower prices, and was producing a virtual revolution in computer and information technology, the Soviet Union was stalled with out-dated production techniques, decades-old machinery, and inefficient communication.

· The system that had borrowed western technology to fuel its industrial growth seemed incapable of entering the new information age.

· Agricultural output, in spite of heavy investments by Khrushchev and Brezhnev, was declining annually.

· The western free world was moving farther and farther ahead, not only in much desired consumer goods, but also in the showcase areas of military strength and space technology.

· Afghanistan defeat

· Reagan’s “Star Wars” defense.

10.
Perestroika, literally “restructuring,” was a last attempt to shore up a failing system, but by the mid 80s, all three legs of the 3-legged table were wobbling.

· Economic reforms and renewed attempts to increase the growth rate couldn’t head off continued problems:

· The time and expense of negotiating exchanges continued to soar.

· Continued high investment in the military and heavy industry sustained limited gains in consumer goods;

· Investment meant resources were directed to industrial and military growth, and thus taken away from consumer production.  Investment in industry may promise consumer production in the future, but for the present, it causes standards of living to erode or stagnate.

· Agricultural problems became acute; food imports were necessary;

· Distributions from farms to cities were sporadic; and

· Oil revenues declined dramatically.

· Under Gorbachev, Perestroika lowered the cost and raised the benefit of diverting resources from the official sector to the informal economy.

· In the political-legal area, political control was used to deliver the privileges to the elite and rule of law was absent.

· The prosecuting attorney was also the judge.

· In the moral-cultural sphere, there was a loss of moral principals that worked in the economic system. 

· Citizens believed that theft from the state was necessary and justified.

· These economic problems were aggravated by the Soviet people beginning to reject the secrecy of their history and to question the communist plan and the dream that accompanied it.

· With two legs of the 3-legged table seriously weakened, all the strength and force of the 3rd leg could not save the whole, and the structure collapsed.

Conclusion:  The cost of decades of choices to invest in industry and the military, to restrict individual freedoms, to remain isolated from western cultures and economies, and to use directives that had perverse incentives to produce and create, finally led to prolonged stagnation.  Communist leaders desperately attempted new strategies of economic rejuvenation but decline continued, then collapse.
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